(A) % £ 29.47 nof  ( 29.4702 )
©) 2. 60 X 1.37 3. 5620
@) 6.23 X 3.34 20. 8082
® 3.75 X 1. 36 5. 1000

X
X
O ~0B &3 = 29. 4702 - 1)

HIBRTES > L

HIBRER 7> A7t = 0 )

1) 29.4702 — 2) 0 = 29.4702

ZERERE 29.47

(B) HOH B 6.28 nf ( 6.2811 )
@ 0.78 X 1.37 1. 0686
® 3.75 X 1. 39 5.2125

X
X
X
@ ~® &it = 6. 2811 3)

HIBRES > L

HIBRER 7> A7t = 0 - 4)

3)  6.2811 — 4) 0 = 6.2811

FHELYGImAE 6. 28 m

(C) 1M S 3.37  nmf ( 3.3728 )
® 2.48 X 1. 36 3.3728

X
® ~ BEF = 3.3728 - 5)
HIERER 5> L
HIBRE &5 = 0 © 6)

5) 3.3728 — 6) 0 = 3.3728

1H S TR AR 3.37 ot




(D) Z Ot (R - F98) 1.92 m  ( 1.9188 )

@ 0.79 X 1.23 0. 9717
0.14 X 0. 60 0. 0840
©) 0.63 X 1.37 0. 8631
X

® ~©® &it = 1.9188 e 1)

HIIBRER 73 EL

HIBRES 20 55 = 0 e 8)

7) 1.9188 — 8) 0 = 1.9188

ZOMmfE  1.92 nm

wprmiE ( (A) + (B) + (C) + (D) ) = 41.04 m  ( 41.0429




